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Instructions to Candidates:

Answers should be written Completely either in English or Kannada.

SECTION- A
QPN - @

Answer any S of the following questions. Each question carries 2 marks. (5%x2=10)
FENT OIRRTORTAR DT BINON WS0R. TS [IN ATVB BOFND.

1. a)

b)

c)

d)

2

What do you mean by customer of a bank ?
W08 MY,TT QOTIEO ?

Who is paying banker ?

TRRBSTIT 2T, 0807 OB C3RTD 7

What is meant by “Refer to Drawer” ?
“TO0R WOTRS"' TRM WA DOTTERD ?
What is meant by ‘Commercial Bank® ?

' a'asa’szz,d mﬁo# QOTITE 2

What is joint account ?
O3 ADE NOWTE ?
Deﬁr_;e Endorsement.
HOWTBRTY, T30, DR.
Expand RTGS & KYC.

RTGS 258 KYC o, 9302
[P.T.O.
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6.

10.

11.

SECTION - B
i - ©
Answer any Four of the following questions. Each question carries 5 marks.
TENS CIRPTRHTR DO, JINeR L3or. B B 5 wosnth. - {4x5=20)

Explain the principles of bank lending.
239,088 MO JeERFOL IR DWOR.

What are the precauuons a banker should take while dealing with joint hindu family
account ?

%000 ©AYPT  TORLOWT  03adeodn as’z;zsaammﬁ mgoeo’ab éﬁcﬁamgﬁmd
B0 OB 2

Explain the general duties of a collecting banker.

BARY 10807 MVRT, FSEWNTRY, IF[OR.

Briefly explain the services through E-Banking.

Y-, 0BON" RSN, AosTon IE0A.

Distinguish between cheque & bills of exchange.

2380, W) BOORNY BBYANTY, E9R.

SECTION - C
RPN - &
Answer any 2 of the following questions. Each question carries 12 marks.
TINT CINTYRTOR 2 FBINOR w80k, TS o.“;ﬁ 12 es0BnsL. (2x12=24)

Discuss the general relanonsth & special relatlonshlp between banker & customer.
239,080 WL M),TT IWNT NG, WY DBCR FOWOPNERY, D303
Under which grounds cheques are dis-honoured ? What are the consequences of
wrongful dishonour of a cheque.
QR ROWPFNTY, 138, STIOIOWTE 7 W8S I TRV wama‘pdﬁa ?
Explain the d1ﬁ'erent kmds of endorsement
DG 0eI0H HOWTI/NYRY, DTOR.

SECTION - D

NN - B

Answer any 1 of the following. The question carries 6 marks. (1%6=6)
3INT CINPTEIR 1 B wZdR. BIR 6 ©osRWD.
Draw a specimen of open chequ¢ & crossed cheque.
BT 2380, 0B TebT 34T WRWOODY, 2TOWD.
Draft the model of debit card with necessary information.
BWE TFFT [RBOODTY, BR&S03RODN WTWD.




